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2. The booklet contains 60 questions. 
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provided and not in the question booklet. If 
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student, then the first attempted 50 
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All questions carry equal marks. 
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Question Booklet  Number 

Questions Booklet 

Series 

A 
Paper Code 

HORT 5 0 0 9 
 



(Remaining instructions on the last page)   ¼’ks”k funsZ’k vfUre i”̀B ij½ 

(Only for Rough Work) 



HORT–5009 ( 3 )  Set-A 

1. vke dk cgqHkzw.kh; yo.kjks/kh :VLVkd ¼ewyoa`r½  

gS % 

 
1. Polyembryonic salt resistant rootstock of 

mango is : 

(A) osykbdksyEcu  (A) Vellaicollamban  

(B) dq#du  (B)  Kurrukan 

(C) usDdjs  (C)  Nekkare 

(D) ewoUnu  (D)  Moovandan 

2. vke dh dkSu&lh fdLe ekyQkWeZs’ku ds izfr 

vfrlaosnu’khy gS \ 

 
2. Which mango variety is highly 

susceptible to malformation ? 

(A) Hknqju  (A) Bhaduran  

(B) vkfyc  (B)  Alib 

(C) ckWEcs xzhu  (C)  Bombay Green  

(D) byk;ph  (D)  Illaichi 

3. vke dh mRifjofrZr fdLe gS % 
 

3. Mutant cultivar of mango is : 

(A) e/kqfydk   (A) Madhulica 

(B) yaxM+k  (B)  Langra 

(C) fujatu  (C)  Niranjan 

(D) jksfldk   (D)  Rosica 

4. flLVesfVd ikseksykWth ds tud dkSu gSa \ 
 

4. Who is the father of Systematic 

Pomology ? 

(A) MkfoZu  (A) Darwin  

(B) fM duMksys  (B)  De Candolle 

(C) esaMy  (C)  Mendel 

(D) okVlu  (D)  Watson  
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5. LVsuksLieksZdkihZ vke dh fdl fdLe esa ik;h 

tkrh gS \ 

 
5. Stenospermocarpy in mango is observed 

in variety : 

(A) uhye  (A) Neelam 

(B) vYQkUlks  (B)  Alphanso  

(C) ckWEcs xzhu  (C)  Bombay Green  

(D) fla/kq  (D)  Sindhu 

6. vke esa fyfVy yhQ 
---------------------- 

dh deh ds 

dkj.k gksrk gSA 

 
6. Little leaf in mango is caused by the 

deficiency of : 

(A) ftad  (A) Zinc 

(B) cksjkWu  (B)  Boron 

(C) dSfY’k;e  (C)  Calcium 

(D) vk;ju  (D)  Iron 

7. dkxth ykbe ,d vPNk lwpd gS % 
 

7. Kagzi lime is the best indicator for : 

(A) yhQ dyZ ds fy,  (A) Leaf curl  

(B) tkbyksiksjksfll ds fy,  (B)  Xyloporosis 

(C) fVªlfVtk ds fy,  (C)  Tristeza 

(D) ,XtksdkWfVZl ds fy,  (D)  Exocortis  

8. vf/kd ids gq, dsyk esa lqxU/k dk dkj.k gS % 
 

8. Aroma of overripe banana is due to : 

(A) Mkb,ykbyizksikby  (A) Diallyl propyl 

(B) vkblksisaVkuksy  (B)  Isopentanol 

(C) gsDlkuksy  (C)  Hexanol 

(D) ;wthuksy  (D)  Eugenol 
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9. cjlkbZ M~okQZ ,d fdLe gS % 
 

9. Barsai Dwarf is a variety of : 

(A) dsys dh  (A) Banana 

(B) iihrk dh  (B)  Papaya 

(C) vke dh  (C)  Mango  

(D) ehBs larjk dh  (D)  Sweet orange  

10. dsyk dk :ikUrfjr ruk dgykrk gS % 
 

10. Modified stem of banana is called : 

(A) LoMZ ldj   (A) Sword sucker 

(B) okVj ldj   (B)  Water sucker 

(C) jkbtkse   (C)  Rhizome 

(D) dkWeZ  (D)  Corm 

11. vaxwj esa chtjfgr gksus dk dkj.k gS % 
 

11. Seedlessness in grape is due to : 

(A) okuLifrd ikfFkZuksdkihZ  (A) Vegetative parthenocarpy  

(B) LVsuksLieksZdkihZ  (B)  Stenospermocarpy  

(C) budEisfVfcfyVh  (C)  Incompatibility 

(D) fVªIykW;Mh  (D)  Triploidy 

12. iihrk esa lq/kkj eq[;r% fdlds }kjk gksrk gS \ 
 

12. Improvement in papaya is done mainly 

through : 

(A) buczhfMax ,oa flcesfVax  (A) Inbreeding and Sibmating  

(B) iksyhIykW;Mh  (B)  Polyploidy  

(C) gkbfczMkbts’ku  (C)  Hybridization  

(D) E;wVs’ku  (D)  Mutation  
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13. flVªl esa ,XtsfUFkek fdldh deh ds dkj.k 

gksrk gS \ 

 
13. Exanthema of  citrus is due to deficiency 

of : 

(A) ftad  (A) Zn 

(B) dkWij  (B)  Cu 

(C) eSaXkuht  (C)  Mn 

(D) ukbVªkstu  (D)  N 

14. vaxwj dk yo.kjks/kh ewyo`Ur gS % 
 

14. Salt resistant rootstock of grape is : 

(A) lkYV xzhd  (A) Salt Greek  

(B) 1612  (B)  1613 

(C) Mksxfjt  (C)  Dogridge  

(D) mi;qZDr lHkh  (D)  All of the above  

15. vaxwj esa O;kolkf;d izlkj.k gksrk gS % 
 

15. Grape is commercially propagated by : 

(A) lsehgkMZoqM dfVax }kjk  (A) Semihardwood cutting  

(B) lkW¶VoqM dfVax }kjk  (B)  Softwood cutting  

(C) gkMZoqM dfVax }kjk  (C)  Hardwood cutting  

(D) okbu dfVax }kjk  (D)  Vine cutting  

16. Qy idkus okyk gkWekZsu gS % 
 

16. Fruit ripening hormone is : 

(A) vkWfDtu  (A) Auxin  

(B) th- ,-  (B)  GA 

(C) lkbVksdkbfuu  (C)  Cytokinin 

(D) ,fFkyhu  (D)  Ethylene  
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17. fVlw dYpj ds }kjk Qy Qlyksa esa cM+s {ks= 

ij izlkj.k gksrk gS % 

 
17. Fruit crop propagated on large scale 

through tissue culture : 

(A) iihrk   (A) Papaya 

(B) dsyk  (B)  Banana 

(C) vaxwj  (C)  Grape  

(D) vke  (D)  Mango 

18. ehBs larjk dk dqy gS % 
 

18. Sweet orange belongs to the family : 

(A) jkstslh  (A) Rosaceae  

(B) jgeuslh  (B)  Rhamnaceae 

(C) :Vslh  (C)  Rutaceae 

(D) foVslh  (D)  Vitaceae 

19. xzsuqys’ku ,d nSfgd fodkj gS % 
 

19. Granulation is a physiological disorder  

of : 

(A) ve:n dk  (A) Guava 

(B) vke dk  (B)  Mango  

(C) uhcw oxhZ; Qy dk  (C)  Citrus  

(D) lsc dk  (D)  Apple  

20. dsyk esa flxkVksdk loZizFke ns[kk x;k Fkk % 
 

20. Sigatoka in banana was first observed in : 

(A) fQth esa  (A) Fiji 

(B) eysf’k;k eas  (B)  Malaysia  

(C) gokbZ eas  (C)  Hawaii 

(D) Jhyadk eas  (D)  Sri Lanka 
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21. flfYo;k fNydk lfgr [kkus ;ksX; fdLe gS % 
 

21. Sylvia is edible podded variety of : 

(A) czksMchu dh  (A) Broadbean  

(B) eVj dh  (B)  Pea 

(C) yksfc;k dh  (C)  Cowpea 

(D) fyekchu dh  (D)  Limabean 

22. uj iq”iksa dh fiafpax izHkkoh gS % 
 

22. Pinching of male flowers is effective in : 

(A) ykSdh esa  (A) Bottlegourd  

(B) [khjk eas  (B)  Cucumber 

(C) rjcwt eas  (C)  Watermelon  

(D) [kjcwt esa  (D)  Muskmelon  

23. QwyxksHkh essa uj cU/;rk dk izdkj gS % 
 

23. Type of incompatibility in cauliflower is : 

(A) xSfeVksQkbfVd   (A) Gametophytic  

(B) LiksjksQkbfVd  (B)  Sporophytic  

(C) (A) ,oa (B) nksuksa   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

24. fuEufyf[kr esa ls fHk.Mh dh dkSu&lh ladj 

fdLe gS \ 

 
24. Which of the following is hybrid variety 

of okra ? 

(A) ,p&7  (A) H-7 

(B) vjksg&1  (B)  Aroh-1 

(C) ,p&8  (C)  H-8 

(D) mi;qZDr lHkh   (D)  All of the above  
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25. fuEufyf[kr esa ls VekVj dh :V ukWV fuesVksM 

izfrjks/kh fdLe dkSu&lh gS \ 

 
25. Which of the following tomato varieties 

are resistant to root knot nematodes ? 

(A) fglkj yfyr  (A) Hissar Lalit 

(B) vdkZ ojnku  (B)  Arka Vardan  

(C) lsy- 120  (C)  Sel. 120 

(D) mi;qZDr lHkh   (D)  All of the above  

26. fepZ dk lh- ,p-&1 fdl ladj.k dk ifj.kke 

gS \ 

 
26. CH-1 A hybrid in chilli is result of a 

cross between : 

(A) ,e- ,l-&12 × iatkc yky  (A) MS-12 × Punjab Lal 

(B) ,e- ,l-&13 × iatkc yky  (B)  MS-13 × Punjab Lal 

(C) ,e- ,l-&1 × iatkc yky  (C)  MS-1 × Punjab Lal 

(D) ,e- ,l-&11 × iatkc yky  (D)  MS-11 × Punjab Lal 

27. vdkZ ekfud rjcwt izfrjks/kh gS % 
 

27. Arka Manik watermelon is resistant to : 

(A) ikmMjh feYM~;w ds izfr  (A) Powdery Mildew  

(B) ,UFkzsDukst ds izfr  (B)  Anthracnose  

(C) Mkmuh feYM~;w ds izfr  (C)  Downy mildew  

(D) mi;qZDr lHkh ds izfr  (D)  All of the above  
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28. gsVjksLVkbyh fLFkfr ik;h tkrh gS % 
 

28. Heterostyly condition is found in : 

(A) VekVj esa  (A) Tomato  

(B) cSaxu eas  (B)  Brinjal 

(C) fepZ esa  (C)  Chilli 

(D) vkyw esa  (D)  Potato  

29. izksVksxkbuh fLFkfr ik;h tkrh gS % 
 

29. Protogyny condition is found in : 

(A) I;kt esa  (A) Onion  

(B) ikrxksHkh eas  (B)  Cabbage 

(C) yglqu esa  (C)  Garlic 

(D) mi;qZDr lHkh   (D)  All of the above  

30. lksyslksMhu mifLFkr gksrk gS % 
 

30. Solasodine is present in : 

(A) VekVj esa  (A) Tomato  

(B) vkyw eas  (B)  Potato  

(C) cSaxu eas  (C)  Brinjal 

(D) fepZ eas  (D)  Chilli 

31. Cykafpax lEcfU/kr gS % 
 

31. Blanching is related to : 

(A) ykSdh ls  (A) Bottlegourd  

(B) QwyxksHkh ls  (B)  Cauliflower 

(C) ikrxksHkh ls  (C)  Cabbage 

(D) mi;qZDr lHkh   (D)  All of the above  
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32. cSaxu dk fyfVy yhQ fdlds }kjk QSyrk gS \ 
 

32. Little leaf of brinjal is transmitted by : 

(A) ,fQM~l  (A) Aphid  

(B) yhQ jksyj  (B)  Leaf roller  

(C) yhQ gkWij  (C)  Leaf hopper 

(D) lQsn eD[kh  (D)  White fly 

33. izk;% ijijkfxr Qly gS % 
 

33. Often crosspollinated crop is : 

(A) fHk.Mh  (A) Okra 

(B) cSaxu  (B)  Brinjal 

(C) fepZ  (C)  Chilli 

(D) mi;qZDr lHkh   (D)  All of the above  

34. dkSu&lh Qly Ms&U;wVªy ¼fnu mnklhu½ gS \ 
 

34. Which crop is day-neutral ? 

(A) VekVj  (A) Tomato  

(B) vkyw  (B)  Potato  

(C) ‘kdjdUn  (C)  Sweet potato  

(D) xktj  (D)  Carrot 

35. vkyw dh iNsrh >qylkjks/kh iztkfr gS % 
 

35. Late blight resistant variety of potato is : 

(A) dqQjh fxfjjkt  (A) Kufri Giriraj  

(B) dqQjh fpIlksuk   (B)  Kufri Chipsona  

(C) dqQjh T;ksfr  (C)  Kufri Jyoti  

(D) mi;qZDr lHkh   (D)  All of the above  
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36. QkseksfIll CykbV fdlds dkj.k gksrk gS \ 
 

36. Phomopsis blight is caused by : 

(A) thok.kq   (A) Bacteria  

(B) fo”kk.kq   (B)  Virus  

(C) dod  (C)  Fungus 

(D) lw=d`fe  (D)  Nematode 

37. Hkkjrh; lCth ‘kks/k laLFkku fLFkr gS % 
 

37. Indian Institute of Vegetable Research is 

located at : 

(A) ubZ fnYyh esa  (A) New Delhi  

(B) csaxyq# eas  (B)  Bengaluru  

(C) mŸkj izns’k esa  (C)  U. P. 

(D) gfj;k.kk eas  (D)  Haryana 

38. vi Vw MsV ,d iztkfr gS % 
 

38. Up to date is a variety of : 

(A) vkyw dh  (A) Potato  

(B) VekVj dh  (B)  Tomato  

(C) cSaxu dh  (C)  Brinjal 

(D) fHk.Mh dh  (D)  Okra 

39. dath rS;kj dh tkrh gS % 
 

39. Kanj is prepared from : 

(A) ewyh ls  (A) Radish  

(B) ‘kyte ls  (B)  Turnip  

(C) dkyh xktj ls  (C)  Black carrot  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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40. iwlk vxsrh ,d fdLe gS % 
 

40. Pusa Ageti is a variety of : 

(A) ikrxksHkh  dh  (A) Cabbage  

(B) QwyxksHkh dh  (B)  Cauliflower  

(C) czksdyh dh  (C)  Broccoli 

(D) xk¡B xksHkh dh  (D)  Knol Khol 

41. ewyh esa fcuk lM+h xkscj dh [kkn ds mi;ksx 

ls gksrk gS % 

 
41. Use of undecomposed manure in radish 

may cause : 

(A) fMQkWe~ZM tM+  (A) Deformed roots  

(B) Qksfd±x  (B)  Forking  

(C) ihFkhusl  (C)  Pithiness  

(D) mi;qZDr lHkh   (D)  All of the above  

42. lej LDoS’k dk ,d ladj gS % 
 

42. A hybrid of summer squash is : 

(A) vyhZ ;syks izksfyfQd  (A) Early Yellow Prolific  

(B) iwlk vyadkj   (B)  Pusa Alankar  

(C) vdkZ pUnu  (C)  Arka Chandan  

(D) isV~Vh isu  (D)  Patty Pan 
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43. jQsul czsfldk fdlds }kjk fodflr dh xbZ \ 
 

43. Raphanus brassica was developed by : 

(A) Cysdslyh  (A) Blackeslee  

(B) ukxkgs:  (B)  Nagaheru  

(C) fjEiw  (C)  Rimpu 

(D) dkjisjsUdks  (D)  Karperenko 

44. ^iwlk jljkt* ,d iztkfr gS % 
 

44. ‘Pusa Rasraj’ is a variety of : 

(A) [kjcwt dh  (A) Muskmelon  

(B) rjcwt dh  (B)  Watermelon  

(C) [khjk dh  (C)  Cucumber 

(D) ddM+h dh  (D)  Longmelon  

45. ykSdh esa gsVjksfll fdlds }kjk ntZ dh xbZ 

Fkh \ 

 
45. Heterosis in bottlegourd was reported  

by : 

(A) th- ,l- fxy  (A) G. S. Gill 

(B) oh- ,l- ‘ks”kknzh  (B)  V. S. Sehshadri 

(C) vkbZ- Mh- R;kxh  (C)  I. D. Tyagi  

(D) ;w- ds- oekZ  (D)  U. K. Verma  
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46. lriqfr;k ,d mHk;fyaxh fdLe gS % 
 

46. Satputia is a hermaphrodite variety of : 

(A) fpduh rksjbZ dh  (A) Spongegourd  

(B) /kkjhnkj rksjbZ dh  (B)  Ridgegourd  

(C) ykSdh dh  (C)  Bottlegourd  

(D) fV.Mk dh  (D)  Roundgourd  

47. VekVj dh uk’kikrh ds Qy ds vkdkj okyh 

iztkfr gS % 

 
47. Pear-shaped fruited variety of tomato  

is : 

(A) iatkc dsljh  (A) Punjab Kesri  

(B) ih- ,u- vkj-&7  (B)  PNR-7 

(C) iatkc Nqvkjk   (C)  Punjab Chhuara 

(D) vdkZ ojnku  (D)  Arka Vardan  

48. /kkjhnkj rksjbZ esa xq.klw=ksa dh la[;k  

gS % 

 
48. Number of chromosomes in ridgegourd  

is : 

(A) 2n = 24  (A) 2n = 24 

(B)  2n = 22  (B)  2n = 22 

(C)  2n = 28  (C)  2n = 28 

(D)  2n = 26  (D)  2n = 26 
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49. ladj VekVj dh izfr gsDVs;j cht nj  

gS % 

 
49. Seed rate of hybrid tomato per hectare is : 

(A) 250 xzke  (A) 250 gm 

(B) 350 xzke  (B)  350 gm 

(C) 400 xzke  (C)  400 gm 

(D) 500 xzke  (D)  500 gm 

50. fHk.Mh ds cht vadqj.k ds fy, mfpr rkieku 

gS % 

 
50. Optimum temperature for okra seed 

germination is : 

(A) 15°C  (A) 15°C 

(B)  20°C  (B)  20°C 

(C)  30°C  (C)  30°C 

(D)  35°C  (D)  35°C 

51. I;ksj ykbu fdLe gS % 
 

51. Pure line variety is : 

(A) gksekstk;xl&gsVjksthfu;l   (A) Homogygous-Heterogeneous  

(B) gksekstk;xl&gkseksthfu;l  (B)  Homogygous-Homogeneous  

(C) gsVjkstk;xl&gsVjksthfu;l  (C)  Heterozygous-Heterogeneous  

(D) gsVjkstkx;l&gkseksthfu;l  (D)  Heterozygous-Homogeneous 
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52. ,d le;qXeth Loijkfxr ikS/ks dh larfr 

dgykrh gS % 

 
52. Progeny of a single homozygous self-

pollinated plant is known as : 

(A) Dyksu  (A) Clone  

(B) bufczM  (B)  Inbred  

(C) I;ksj ykbu  (C)  Pure line  

(D) LVsªu  (D)  Strain  

53. Qly dh izfrjks/kh ‘kfDr dks 
-------------------- 

ds 

mi;ksx ds }kjk c<+k;k tk ldrk gSA 

 
53. The resistant power of crop can be 

increased by the application of : 

(A) QkWLQksjl  (A) Phosphorus  

(B) iksVk’k  (B)  Potash  

(C) ukbVªkstu  (C)  Nitrogen  

(D) lYQj  (D)  Sulphur 

54. ekl p;u fof/k 
---------------------- 

ds lq/kkj ds fy, 

mi;ksxh gSA 

 
54. Mass selection method is useful for 

improvement of : 

(A) Loijkfxr Qly  (A) Self-pollinated crop  

(B) ijijkfxr Qly  (B)  Cross-pollinated crop  

(C) (A) ,oa (B) nksuksa   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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55. mPp var%iztuu kl ik;k tkrk gS % 

 
55. High inbreeding depression is found  

in : 

(A) xktj  eas  (A) Carrot  

(B) ikrxksHkh  eas  (B)  Cabbage 

(C) dqdqjfcV~l esa  (C)  Cucurbits  

(D) mi;qZDr lHkh  (D)  All of the above  

56. dqdqjfcV~l dk vfxze fyax :i gS % 
 

56. Advance sex form of cucurbits is : 

(A) ,dfyaxkJ;h  (A) Dioecious  

(B) f}fyaxkJ;h  (B)  Monoecious  

(C) mHk;fyaxh  (C)  Hermaphrodite  

(D) xkbuksf’k;l  (D)  Gynoecious   

57. ekrk&firk esa ls fdlh ,d ds lkFk F1 dk 

ladj.k dgykrk gS % 

 
57. Crossing of F1 with one of the parents is 

called : 

(A) Vki ØkWl  (A) Top cross  

(B) VsLV ØkWl  (B)  Test cross  

(C) cSd ØkWl  (C)  Back cross  

(D) fØl ØkWl  (D)  Criss cross  
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58. ^gsVjksfll* ‘kCn fdlus izfrikfnr fd;k Fkk \ 
 

58. Term ‘heterosis’ was coined by : 

(A) th- ,p- ‘kqy  (A) G. H. Shull 

(B) esaMy  (B)  Mendel  

(C) eksxZu  (C)  Morgan  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

59. fMgkWyfeax fdlds cht mRiknu esa ,d 

egRoiw.kZ dne gS \ 

 
59. Dehaulming is an important  step in seed 

production of : 

(A) VekVj  (A) Tomato  

(B) vkyw  (B)  Potato  

(C) ;ke  (C)  Yam 

(D) ‘kdjdUn  (D)  Sweet potato  

60. dksy Qlyksa ds ladj cht mRiknu ds fy, 

iz;qDr ra= gS % 

 
60. Mechanism used for hybrid seed 

production of cole crops is : 

(A) Lo&vlaxfr  (A) Self-incompatibility  

(B) uj ca/;rk   (B)  Male sterility  

(C) (A) ,oa (B) nksuksa   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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